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Roll No. Answer Sheet No.

Sig. of Candidate, | . Sig. of Invigilator.

79

..................................
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Time allowed: 20 Minutes

MATHEMATICS SSC-Il
SECTION — A (Marks 15)

(Science Group)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it sh?uld be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Circie the correct optioni.e. A/IB/C/ D. Each part carries one mark.

(i

(i

(iii)

(iv)

)

vy

(vii)

(viil)

For Examiner’s use only:

Two linear factors of x* —15x + 56 are:

Total Marks:
Marks Obtained:

e 2SA 1909 (L} —

A (x-7) _and (x+8) . B. (x—-6)and (x—-9)
C. (x—7) and {x—8) - D (x+7)and (x+8)
The product of cube roots of unity is:
A. 0 B. 1 . C. -1 ' D. 3
If o, B are the roots of px* +gx+r=0, then sum of the roots 2¢x and 25 is:
A -l B. r o C. 29 ' D. -
r p p 2p
The value of x in proportion 4:x::5:15 is!
75 4
A — B. - C. 3 D. 12
4 3
x2+1 g
Partial fractions of ————— are of the form:
DD
A 4, 5 B. 1+_i-+Bx+C
. xfl x—1 ' Cox+l ox-1
c. 1+¢—‘4—+—€m D. Ax+B+ &
x+1x—1 : x+1  x-1
If A=B,then 4~ B isequal to:
A 4 B. B | B | ¢ D. U
The range of therelation R=4{(1,3),(2,2).(3,1), (4, 4)}is: .
A. {1,2,3} B. . {3,2,4 C. {1,2,3,4} D. {1,3,4}
The most freqguent occurring observation in a data set is called:
A Arithmetic Mean . B. - Median
C. Mode D. Harmonic Mean
secBcotl = )
A sint B. ! C. _1— D. sin &
, cosf sin & cosf
Right bisector of the chord of a circle always passes through the _ of circle.
A. . Radius B. Circumference C. Centre D. Diameter
Line segment joining any point of the circle to the center is called:
. A Circumference ‘ B. Diameter
C.  Radial Segment D. Perimeter
A circle has only one: ,
A ‘Secant B. Chord C. Tangent b Centre
Two chords in a circle subtending two congruent central angles are.
A Congruent B. incongruent C. Parallel D. Overlapping
. How many common tangents can be drawn for two disjoint circles:
A 1 ’ B. 2 . C. 3 D. 4
The measure of external angle of a regular hexagon is:
A = B. = c. Z p. Z
6 4 3. 2
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MATHEMATICS SSC-li /

Science Group

Time allowed: 2:40 Hours Total Marks Sections B and C. 60

Attempt any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the se_parately

NOTE:
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. : b
SECTION ~ B {(Marks 36)
Q.2 Attempt any NINE parts. All parts carry equal marks. (9x4=36)
{i) Solve the equation ax® +4x—~a=0 by completing square method (g # 0
(i) Find k . if the roots of equation (2k—1)x% +3kx+3=0 are equal, [k # —;—J
(i) if o, 8 are the roots of the equation 2x* —3x—5=0. Form a quadratic equation whose rocis are
200+1,28+1
(iv) Use synthetic division to find / and m , if x—1 and x+1 are the factors of the polynomial
* +30% +mx—1
V) The product of two positive consecutive numbers is 182 . Find the numbers.
(v)  Find x in the following proportion 3x -1 :-3-::2—}5:1
7 5 35
2 AT
(vif) Using componendo-dividendo theorem, solve the equation = 2)2 (x 4)2 =l~%~
(x—2) +(x-4)y 13
(vili)y  The surface area S of the sphere varies directly as the square of radius # and S =167 when r=2.
Find » when S =367
(ix) Resolve ——71——— into partial fractions.
(x—-1)"(x-2)
(X) If U={1,2,3,4,5,6, 7,8,9,10}, A= {1,3,5,7, 9}, B={1,4,7,10}, then verify that (AnBY =4 w B
{xi) Find @ and b if 2a+5,3)=(7,b-4) _
{xi) A student has obtained following marks 82,93,86,92 and 79 in 5 tests of mathematics. Find the median.
(xiiy ~ Find area of the sector of a circle of radius 16¢m, if the angle at the centre is 60°
(xiv)  Verify the identity (tan 6+ cot&)tand =sec’ &
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8 =24)
Q.3 Prove that in an obtuse triangle, the square on the side opposite to the obtuse angle is equal to the sum of
the squares on the sides containing the obfuse angle together with twice the rectangle contained by one of
the side and the projection on it of the other.
Q4. Prove that two tangents drawn to a circle from a point outside it, are equal in length.
Q5. Prove that any two angles in the same segment of a circle are equal.
Q6. Inscribe a circle in an equilateral triangle ABC with each side of length Sem .
Q7. Aflag pole 17.9 meter high casts a 7 meter shadow. Find the angle of elevation of the sun.

—— 28A 1908 (L) —
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(k= %) b i S E sl 2k —Dx" +3kc+3=0 =hlSt G -

-uff{::».::afﬂ/_.iﬁ 26+1 s2e+1 uj.Q);UﬂL):;JL 2x? ~3x-5=0ll+ Ba /fl (iii}

UL (Synthetic division) S S f izl PO =X 4300 +mx -1 x4 Lyx =1/ ()

gm0 T

e 12 i N

. 3x-13 2x 7 _ el

__éﬁh»_.._‘{s_‘fxu: 7 —5_?.-5_‘—,{/ {vi)

(=2 —(x—47 _12 -

5 - . - . 2 e, "
- S5 (x-27 +(x- A7 13 &‘}L/d.ﬂﬁd-/dw[uﬁf%?[/y (vii)
S =367 Sl o r= 2 w2a S =167 o el FL YL T il e N ,_}'Jf’ b/l (i) .
, . 1
SV s e U

(ANBY =4 UB' (b i B=LATI0}0 , 42{1.3,57.9) . U={1,23,4567891007 ()
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s L S A 8293869279 ¢ K e eSS L (i)
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(tan@+cotd)tand=sec’ & 7ok (xiv)
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Time allowed: 20 Minutes

MATHEMATICS SSC-II
SECTION — A (Marks 15)

~ {Science Group)

NOTE: Section-A is compulsory. All paris of this se”ctidn are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

®

(i1}

(i)

(v)

(vii)

(viii)

(%)

(x}

(i)

(xii)

(xii)

(xiv)

{(xv)

The solution set of equation 4x* ~16=0 Is:
A 1) B. {2} c. {4 D. {8

If b* —4dac <0 , then the roots of the equation ax’ +bx+c=0 are: :
A irrational B. Rational C. Equal b. imaginary

if e, B are the roots of > —x—1=0 , then product of the roots 2« and 25 is:
A -2 B. 2 C. 4 D. —4

The fourth proportional w of x:yviw s

A k24 B. w. C. xvy D. 2
v X vy
A fraction in which the degree of numerator is less than the degree of denominator is called;
A An equation ' B. An improper fraction
C. An ldentity D. A proper fraction
If A= B, then Aw B is equal to: .
A A B. B C. & D. U
Point (-2,-3) liesiin the quadrant. :
A I B b C. I D. IV
The measure which determines the middie most observation in a data set is called:
A Deciles B. Median C. Mode D: Range
1 0
—cosecds” =
2 .
' 3
A. L B. L C. V2 D. ¥3
242 V2 2
Through how many non-collinear peints, can a circle pass?
A, One . B. Two C. Three D. None
The circular region bounded by two radii and the corresponding arc is called:
A Circumference of a circle B. Sector of a circle
C. Diameter of a circle D. Segment of a circle
Tangents drawn at the ends of diameter of a circle are to each other”
A Parallel B. Non-paraliel  C. Collinear D. Perpendicular
A 4cm long chord subtends a cen?rai angle of 60°. The radial segment of this circle is of length:
A lem B. 2em C. 3em D. 4em
The arcs opposite to incongruent central angles of a circle are always: _
A Congruent B. fncongruerit  C. Parallel - D. Perpendicular
How many tangents can be drawn from a point outside the circie?
A 1 B. 2 C. 3 D. 4
For Examiner’s use only:
Total Marks: 15
Marks Obtained:

— 25A 1909 (ON) ——
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MATHEMATICS SSCI 9 0

Science Group

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:

Attempt any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.2

Q4.

Q5.

Q6.
Q7.

SECTION - B (Marks 36)
Attempt any NINE parts. All parts carry equal marks. (9x4=36)

(i) Solve the equation 2% +64-27" -20=0

{ii) Find the condition that the roots of the equation {(mx -+ ¢y —4ax=0 are equal.

(iiiy If &, 8 are the roots of the equation x* -3x+6=0 . Then form quadratic equation whose roots are -1—,]—;
. [24

(v)  Solve by using synthetic division, if 3 is the root of the equation 3x° —11x* +5x+3=0

(v} The difference of a number and its reciprocal is % . Find the number.

(vij  Find m in the continued proportion 7,m—3,28

(x+5° —(x=3 13
(x+5) +(x=3) 14

(vit) Using componendo-dividendo theorem, solve the equation

(vily  The surface area A of a cube varies directly as the square of the length ! of an edge and A4 =27 square

units when /=3 units. Find [ when 4=12 square units.

(ix) Resoclve Tﬁ into partial fractions.
x—1Hx+

(x) 7 =11,2,3,4,5,6,7,8,9.10}, 4={1,3,5,7,9}, B={1,4,7,10} then verify that (AuB) =A B

{xi) If L={x|xeNArx<5}, M={ylyeP rny<10}, then make the following relation from L to A
R={(x,¥)| y=x} . Also write the domain and range of R .

{xii} The sugar contents for a random sample of 6 packs of juices of a certain brand are found to be
2.3,2.7,2.5,2.9,3.1 and 1.9 milligram. Find median.

(xii)  Find area of the sector with a central angle of 20° in a circle of radius 7em.

(xiv)  Verify the identity sin&(tan & + cot&)=sect

SECTION ~ C (Marks 24}
Attempt any THREE questions. All questions carry equal marks. © (3x8=24)

Prove that in any friangle, the square on the side opposite to acute angle is equal to sum of the squares on

the sides containing that acute angle diminished by twice the rectangle contained by one of these sides and

the projection on it of the other.
Prove that a straight line, drawn from the centre of a circle to bisect a chord (which is not a diameter) is

perpendicular to the chord.
Prove that the measure of a central angle of a minor arc of a circle, is double that of the angle subtended by

the corresponding major arc.
Circumseribe a circle about an equilateral triangle 4BC with each side of length 4cm .

Find the angle of elevation of the sun, ifa 6 feet man casts a 3.5 feet shadow.

—— 2SA 1909 (ON) —
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